FRENCH Direct Fire Data Chart

Range Effectiveness
Unit Ammo | ROF " Range in hexes ;::’:;;
o 7 2 3 4 6 8 10 12 14 16 18 20 22
APDU 2 |8:20({9:20(8:20|7:19(6:19|5:18 |4:18{3:17|2:16 | 1:14| — - == = 3
AP 2 8:189:18 18:17(7:17 |6:18 | 5:15 |4:14 | 3:13[2:12 | 1:11 — — - - 6
HEAT 2 [8:1219:12(8:12|7:1215:12 | 3:12 | 1:12| — — - —_ — — -
AMX 30 HE 2 5 8 8 8 8 8 7 6 4 3 — — — — 8
s 1S 2 — 20 20 20 20 18 16 14 12 10 —_ - — — 1
SA 2 la|86|l6|as|l2|-|=-|<-|=-]=-1=1|=1~-%_-19
SCAP*| 3 6:5| 85| 5:5(4:4)|2:3{1:2] — - _ _ — — — — 20
APDU 3 |8:21(9:21(8:21|7:20(6:20(5:19 [4:12 | 3:18(2:17 | 1:16|. — - o =
AP 3 |8:19(9:19|8:1917:18|6:17|56:16 [ 4:15(3:14 [ 2:13 ] 1:12| — — — — 7
HEAT 3 |8:17(9:17(8:17|7:17|6:17|3:17 | 1:17] — — - . & - s iz
AMX 56 < HE 3 6 10 10 10 10 9 8 7 6 3] — — o — 4
S IS 2 — |20 | 20{ 20|20 | 18| 16 | 14 | 12 | 10 | — -1 - = 1
SA 2| 4|6 |6 42| -—|_- = | = |e=] = he | B
scaP*| 3 | 65|85 5:5la:alo:3]i2! — | — | - { - | [ - [ -] 20
SCHE 5 3 3 3 3 3 2 2 1 1 - - — — 7
AMX-10P | SCAP 5 [8:13]|9:13(8:127:12|6:11|5:10| 4:9 | 2:8 | — - - — - — | a
SA 2 6 6 4 g Y s | e [ | sl o ee |es ] s5 f = | B
SCHE 4 2 3 3 3 3 3 2 2 1 1 - - - — 15
VBE SCAP | 4 |88 |98 |88 |77 66|65 |44 |23 — | - | - | -] —~1—-110
SA 23| a]ai3 |1 |- —-|-|=1=-1=-1T=1=1="1_10
Msi 2 — |8:19(8:1978:19|8:19(8:19|8:19 (8:19(8:19|8:128:18 | — — — 6
AMX-10P SCHE 5 2 3 3 3 3 3 2 2 1 1 — — - s
HOT scap | 5 {s:113|9n3|s12]712|e11 (5104 (28| - - | — | -1 — | — |a
) SA 2146|642~ -|-I-1=-1=-1=1=1%=1Ss
VBL Msl| 1 — |8:17/8:17 (817 (8:17[8:17(8:17| — — = =3 = = - 6
MILAN SA |-2 486186 4|2 |—]—]~]~-—|=]=|=-]=]=-1]2
vaB SA 2 |lale |6 |a|2(-]-|=|=|=]-|-tvt—1]=1n10
TRM
Ms! (A) 1 — |8:17]8:17|8:17|8:17 {8:17 |8:17| — - — — - — — 2
! Msl (B) 1 — [8:17/8:17(8:17(8:17(8:17|8:17| — — = = — = s 1
":'fa;"(‘:’ Msic | 1 | - Isa7]sa7|sz|sazlsazlenz] — | — L = | = | = [ =] = ]1
HEAT 1 8:1716:17 |2:17| — - & — = = = b - s == 2
SA 2 8 8 4 1 — — — =] B = g Gt EE - 10
Engineer SA 2 3 1 e § e | es | es b ops § s | = 0 oms | e | == e b A0
Ho/Toc | SA 5] 2 | 2 12 = | =1 =] = Te—] s= | == [ s = | =14
AP 2 |8:18|9:1718:17(7:16/6:16 |5:15[4:14 (3:13|2:12 | 1:10 = — — — 12(0)
HEAT 2 18:1219:12(8:12(7:125:12 [3:12 | 1:12| — — — s = e =
ereoo® | npE | 2 | 5 | 8 |8 | 8 |8 |8 |7 6|43 |- —-]_1%
(AMLE) IS 2 al 771717217655 |al a1 _1T-l@
SA 2 4 6 6 4 2 = — — — — = = e — {9 (6)
MILAN Msl 1 — |8:17/817(|8:17(8:1718:17|8:17| — — = st o - - 2
Ak Msl 2 — |8:19(8:1918:19(8:19(8:198:19(8:19|8:19 |8:19 |8:19| — — — 4
HOT SA 2 4 6 6 4 2 — — — s = - e - - p
scaP’| 3 | 65| 85 s:5(a:alo:zj1:20 — | — | — | —~ | = | = | = | - | 20
= sA |2 )la]e]|l6 a2 | -—|-|-|-|=-]-]=-1]1=-1]s3
AP 2 |8:1819:18(8:17(7:17 |6:16 |5:15|4:14 | 3:13|2:12|1:11| — — — -
AMX-10RC HEAT 2 18121912 (8:12|7:125:12(3:1211:12| — — — — — = — e
HE 2 5 8 8 B 8 8 7 6 4 3 — — — —
SA 2 lalse |6 |al2|--|-|-]l<1=]=1=1]1=T%




